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The Present Continuous Tense Negative Multiple Choice

Choose the correct answer

1) She listening to me.
a) am not
b) isn't

c) aren't

2) They playing in the garden.
a)isn't

b) aren't

c) am not

3) My father reading a book now.
a) am not

b) aren't
c)isn't

4) My sister studying now.
a) am not

b) isn't

c) aren't

5) | saving money to buy a new car.
a) aren't
b) am not

c)isn't
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6) | waiting you.
a) am not
b) isn't

c) aren't

7) He lying in the bed.
a) aren't
b) isn't

¢) am not

8) Mike and Mary
for the summer holiday.

making any plans

a) am not
b) isn't

c) aren't

9) They watching TV right now.
a) am not

b) aren't
c)isn't

10) My wife feeling better today.
a)isn't

b) am not

c) aren't
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Answers:
1) b)isn't
2) b) aren't
3) c)isn't
4) b) isn't
5) b) am
6)a)am

7) b)isn't
8) c)aren't
9) b) aren't

10) a) isn't
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